Date: Tuesday, Octover 30, 2018,

QUIZ # Z SOLUTIONS

la. NQt Siationary because i+ deeendS on + even, odd.

20 IELWid = IELXe e
= IE[xeT LT  ecauwse of indecendente

BackShitt (Perator

B Nt = e

B* Nt = B- B¢
= B \,f,-‘
= \|€—1

Generauy, B V¢ : Yen for neM.
Nole that %8°=1.

B C€) = Ct-1).

AR(p) Process

The Ltime sevies 4¢3 (§ Called an amtoregressive Proces)
ol ovder © L:

Nt = 1)%.. + Cb;.‘(e-z+~+ ¢p Yept &t



where 3E¢3 4 WN(0,02) and b, 0 ,--, bp are constams.

An ARCP) Protess (S wot neceSdarily Stakonary. We
tegquite Statiowmarity Conditions on +ve d'S +e pe Sqtyeied.

USing botkshitt OPerator nokdtion, we can fewtile Mg
felationshi® following way:

Yt-(bﬂbl - Q2461 = - - By Nep = ¢

B\t - lb«. R V- DB Vg - - -’de 8%y = §¢
Yt (1-OR-hanr-- -0pa’) = &

(1 -éd)tFi) Y¢ = &t

Then, we degine;

P .
() = 1- 3biz

2y

as e ‘generaking fuwekon ot Me AR(y) #rocey
With iy \otation, an AR(P) Procest Can be descwbed a):

O*(R)Ve = St
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Partial AugoCotreLation Function (PACF)
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Exawele: Devive we PACE £or an ARCI) Process:
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